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QUESTION 1

The ABR in a Totally Stubby area will not advertise Type-3, Type-4, and Type-5 LSAs to the Totally Stubby area.
Instead, the ABR will advertise a default route to the Totally Stubby area to guide forwarding of packets destined for
other areas.

A. True

B. False

Correct Answer: A

QUESTION 2

Which of the following commands is used to display check information of IGMP enabled interface?
A. [Quidway]showipigmp interface

B. [Quidway]displayigmp interface

C. [Quidway]showipigmp

D. [Quidway]displayip interface

Correct Answer: B

QUESTION 3

Which are the new requirements on the enterprise network stimulated by the mobility trend? (Choose all that apply.)
A. Unified wired and wireless management

B. Consistent service experience anytime, anywhere

C. Fast deployment of mobile applications

D. Strict hierarchical networking

Correct Answer: ABC

QUESTION 4

For link-status routing protocols, filtering routes in the inbound direction actually cannot block the transmission of link-
status information. The filtering effect is that routes cannot be injected into the local routing table but neighbors can still
receive complete route status information and calculate complete routes.

A. True

B. False
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Correct Answer: A

QUESTION 5

Which of the following protocols support the multicast ASM service model? (Choose two.)
A. PIM-SM and IGMPv2

B. PIM-SSMandIGMpv3

C. BGP and OSPF

D. PIM-DM and IGMPv2

Correct Answer: AD
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